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1.	Introduction
In this contribution, we discuss solutions to improve the current slice based cell reselection procedure (solution 4). 

2.	Discussion
During [Post116][242] email discussion, RAN2 has the following proposal and has not decided whether iteration is needed or not..
1. RAN2 to further discuss and agree on UE behaviour for sliced-based priority re-selection
A. Solution 4, all NAS-prioritised slices with frequency priorities as well as legacy frequency priorities are consisdered, without iteration
B. Solution 4, original (UE first uses the frequency priorities of the highest priority slice, and if no cell is found, it will use the priorities of other slices in priority order, and at last it will use legacy priorities)
C. Solution 4, only highest prio slice considered, then legacy priorities considered

We suggest solutions for each case: Case 1) iteration is kept, and Case 2) iteration is removed in Step 7 to go to the next priority slice.
Case 1. Keep the Step 7 
If the step 7 is kept, the companies’ concerns are 1) measured frequency needs not be measured again for the next slice and 2) UE consumes more power due to long cell reselection procedure. 
First, we suggest the following solution to resolve the measurement issue.
When the UE goes back to Step 2 for the next slice, the UE performs cell reselection only if there exists new frequency that has not been measured in the previous step. Let us take an example. As presented in Table 1, Slice A is the highest priority and Slice C is the lowest priority. All Slices are supported on Frequency X and Y while Frequency Z supports only Slice C.  
	Slice A
	Frequency X

	
	Frequency Y

	Slice B
	Frequency X

	
	Frequency Y

	Slice C
	Frequency X

	
	Frequency Y

	
	Frequency Z


<Table 1>
If the UE does not find a suitable cell for the highest priority slice A, and then, the UE selects Slice C, not the next priority Slice B, for the next iteration because the UE have already checked that there is no suitable cell on the all frequencies supporting B.
Proposal 1. The UE selects the next slice in the Step 2 of Solution option 4 only if there exists new frequency that has not been measured in the previous step. Otherwise, the UE selects the second next slice to check the new frequency. 

Another issue raised when the iteration is kept is power consumption due to long slice based cell reselection procedure. To resolve this issue, the UE may perform iteration only if a given condition (e.g., number of slices considered for iteration, timer) is met. For example, although 6 slices are in the slice list, the UE may go back to Step 2 only one time to perform slice based cell reselection for the top two high priority slices only. The UE needs not always consider all the slice list if the UE frequently uses only 2 slices. If the UE cannot find a suitable cell during the slice based cell reselection procedure, the UE performs legacy cell reselection to find a suitable cell based on cell quality. 
Proposal 2. The UE performs iteration based on a given condition (e.g., number of slices considered for iteration, timer) in the Step 7 of Solution option 4.   

Case 2. Remove the step 7
If the step 7 iteration is removed, the UE performs legacy cell reselection if a suitable cell is not found for the highest priority slice. Then, the UE will select a cell based on cell quality regardless of slice support. In order to find a suitable cell supporting intended slices of the UE during the legacy cell reselection procedure, we suggest to apply slice aware barring condition as follows.
During the cell reselection procedure after the UE fails to find a suitable cell for the highest priority slice, the UE consider the cell as barred if the selected cell does not support any of intended slices. The barring release condition may not need to follow the legacy behaviour. Because the cell may not support the intended slice unless slice configuration for the frequency has not been changed although the UE considers the cell as a candidate again for cell reselection after 300 seconds. Therefore, the new barring release condition can be introduced.
The first barring release condition is that the UE moves to a new area, and the second is the UE cannot find a suitable cell and needs to camp on the any cell state. If the UE leaves the validity area (e.g. TA) associated with the slice configuration, the UE considers the barring cell as a candidate for cell reselection. For the other case, if the UE cannot find a suitable cell supporting any of intended slice and needs to camp on any cell state, the UE considers the barring cell supporting none of the intended slice as a candidate for cell reselection and finds a suitable cell based only cell quality.  
Proposal 3. When the UE performs the legacy cell reselection procedure, the UE considers the cell as barred if the selected cell does not support any of intended slices. 
Proposal 4. The UE considers the cell as barred if the selected cell does not support any of intended slices until the UE leaves the validity area (e.g. TA). 
Proposal 5. The UE considers the barring cell supporting none of the intended slice as a candidate for cell reselection and finds a suitable cell based on only cell quality if the UE cannot find a suitable cell and needs to camp on any cell state.

3.	Conclusions
In this contribution, we discuss solutions to improve the current slice based cell reselection procedure. 
Proposal 1. The UE selects the next slice in the Step 2 of Solution option 4 only if there exists new frequency that has not been measured in the previous step. Otherwise, the UE selects the second next slice to check the new frequency. 
Proposal 2. The UE performs iteration based on a given condition (e.g., number of slices considered for iteration) in the Step 7 of Solution option 4.   
Proposal 3. When the UE performs the legacy cell reselection procedure, the UE considers the cell as barred if the selected cell does not support any of intended slices. 
Proposal 4. The UE considers the cell as barred if the selected cell does not support any of intended slices until the UE leaves the validity area (e.g. TA). 
Proposal 5. The UE considers the barring cell supporting none of the intended slice as a candidate for cell reselection and finds a suitable cell based on only cell quality if the UE cannot find a suitable cell and needs to camp on any cell state.
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